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Comparing Rate of Change Name:

Deter mine which function hasthe greater change of rate. If therateisthe same answer Answers

with 'same'.

1) A. B. 2) A. B. 1
x|y Y=X+9 Y =5xX x4 5]
9]-1 ] 2
701
6|2 3.
7115
8|16 .

5.
3) A. B. 4) A. B.
Y =X-(9x-1) x|y X|Y t ®
-9|-58 9(9 e
-3]-22 8| 8 _l‘\“x\\\’ !
-1[-10 2|-2 b
2| 8 414 RS 8
6|32 66 [ B
5 A. B. 6) A. B.
X|Y Y=X-(6%-1) |L Y=Xx5
-6|-18 A
4]-12 _l‘\"x\\\’
2| -6 b
ol o s \
516 RV
7) A. B. 8) A. B.
Y =X+(2x-1) \Qg X|Y Y =3xX-(Xx-1)
N -9 |-54
-8|-48
-5 (-30
-2 |-12
10| 60

[ Math ] www.CommonCoreSheets.com 7

1-8 [88]75]|63|50|38[25[13] 0 |




ﬂh Comparing Rate of Change Name:. Answer Key

Deter mine which function hasthe greater change of rate. If therateisthe same answer Answers
with 'same'.
1) A B. 2) A. B. 1. same
x|y Y=X+9 Y =5xX x4 5]
91 ] 2. A
701
7115
8 (16 4 same
5 A
3) A. B. 4) A. B. 6 B
Y =X-(9x-1) XY X|Y t
-9|-58 9|9 L
-3[-22 8| 8 _l‘\“x\\\’ ! same
-1/-10 2 |-2 X%
2] 8 44 Pt 8 A
6|32 6|-6 LA L
5 A. B. 6) A. B.
X|Y Y =X-(6x-1) L Y=Xx5
-6|-18 A
4]-12 —l‘\"\\\’
2| -6 0\\\\’
o| o X[
7) A. B. 8) A. B.
Y =X+(2x-1) \Qg X|Y Y =3xX-(Xx-1)
Y -9 |-54
-8 |-48
-5 [-30
2|-12
10| 60
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